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Avyukt-Economic Notes

Multiple Choice Questions

1) Which of the following is considered production in Economics?
—aTilling of soil
b) Singing a song before friends
¢) Preventing a child from falling into a manhole on the road
d) Painting a picture for pleasure

2) Which of the following statements is true?
«2"The services of a doctor are considered production
b) Man can create matter
c¢) The services of a housewife are considered production
d) When a man createsa tq_lgle, he creates matter

CA Hardik Manchanda



Avyukt-Economic Notes

Multiple Choice Questions

3) Production may be defined as an act of
reating or addition of utility
b) Earning profit
¢) Destroying utility
d) Making material things from raw material

4) Which of the following is considered production in Economics?
a) Filling ITR for friends and family x
b) Singing songs for friends &
c) Teaching Economics to friends »&

Eaching Economics to CA students in a class '
—

CA Hardik Manchanda



Avyukt-Economic Notes

Multiple Choice Questions

5) Which utility is added when plastic is converted into plastic bottle?
a) Time Utility
._.ba‘ﬁfrm utility
¢) Place utility
d) None of the above

S

CA Hardik Manchanda
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Multiple Choice Questions

6) In describing a given production technology, the short run is best described
as lasting _- Ty |

a) Up to six months from now

b) Up to five years from now

c) As long as all inputs are fixed
_‘dyf}f}ng as at least one input is fixed

A

/7) The “ law of diminishing return” applies to:
.aj’fﬁe short run, but not the long run
b) The long run, but not the short run
c) Both the short run and the long run
d) Neither the short run nor the long run

Multiple Choice Questions S,\.nf?!‘p
=

8) Diminishihg returns occur: A /1
a) When units of a variable input are added to a fixed input and total product falls
hen units of a variable input are added to a fixed input and marginal product
falls s
c) When the size of the plant is increased in the long run*
) When the quantity of the fixed input is increased and returns to the variable
input falls




Multiple Choice Questions

#) Which of the following is true? o0
a) Accumulation of capital depend. on income of individuals X
b) Savings can be influenced by government poljcies v
¢) The supply curve of Tabour is an upward slopping curve- ﬁackwotd___bm&nj
d) None of the above —

)ﬂj Most important function of entrepreneur is to
“ ﬁnuvate T Rk bca;l\‘t3 -

b) Initiate the business enterprise

¢) Finance

d) Earn profit

Multiple Choice Questions

11) Utility is created by making goods and services available at times when they
are not normally available:

a) Form Utility

b) Place Utility

FTme Utility

d) Personal Utility

1 2) As a Factor of Production, the Elasticity of Supply of Land from the viewpoint
of the entire economy is:
a) Infinite
ro
c¢) Positive
d) Negative




Multiple Choice Questions

fi 3) At the Point of Inflexion;

a) Total product is maximum
b) Ayerage product is maximum
_A‘ﬁv.elrginal product is maximum

d) All of the above

Hﬁ When Average Product (AP) rises as a result of an increase in the quantity of
variable input: £y
a) MP dAPfﬁ?&:\h |

b) MP = AP - AP Ma>
P>AP RAPinc.

d) There is no relationship between MP and AP l&

Multiple Choice Questions
Reyice
5) The Marginal, Average, and Total Product Curves encountered by the Firm
producing in the short run exhibit all of the following relationships except
a) When Total Product is rising, Average and Marginal Product may be either
rising or falling «~
b) When Marginal Product is negative, Total Product and Average Product are
falling « i
c) When Average Praduct is at a maximum, Marginal Product equals Average
Prpduct, and Total Product is rising ~
hen Marginal Product is at a maximum, Average Product equals_ Marginal
Product, and Total Product is falling




Multiple Choice Questions
6) Which of the following is not an assumption in the Law of Variable
Proportions?
a) There are no perfect substitutes for the Fixed Factor -b\d ddavlt
__b)Factors of Production can be used in any proportjon —»
c) Only physical guantities of inputs and outputs are considered
d) None of the above

Multiple Choice Questions
s Shg{(i Qun
“P‘l/'?) In the production of wheat, all of the following are variable factors that are
used by the farmer except =~ o

a) The seed and fertilizer used when the crop is planted - vorioble
he field that has been cleared of trees and in which the crop is planted - "___'L,UL

&) The tractor used by the farmer in planting and cultivating not only wheat but
also corn and barley e
d) The number of hours that the farmer spends in cultivating the wheat fields

h




Multiple Choice Questions
Y

48] The stage of Increasing Returns aﬁplies from

Origin to Point where AP is maximum
b) Point where AP is maximum to Point when TP is maximum
c) Point when TP declines and MP becomes negative
d) All the above

49) In case of law of variable proportions, diminishing returns occur K‘B.‘.f'
a) When units of a variable input are added to a fixed input and total product falls
b en units of a variable input are added to a fixed input and marginal product
falls
¢) When the size of the plant is increased in the long run.
d) When the quantity of the fixed input is increased and returns to the variable
input falls.

Multiple Choice Questions

2’6) In which stage of production are the Average Product and Marginal Product
decreasing with the Marginal Product above zero (positive)?
a) Ipe.the stage of Increasing Returns
Hﬂ{the stage of Diminishing Returns
c¢) In the stage of negative returns
d) None of the above

21) Stages I and Ill are called
.—Q‘E%onomic Absurdity
b) Economic Stability

¢) Economic Equilibrium
d) All of the above




Multiple Choice Questions
Long Run

o

f22] If as a result of 50% increase in all inputs, the output rises by 75%, this is a

ﬁ

case of:
a) Increastng Returns to a Fa%t‘o?"&“
qﬁg Returns to Scale
c) Constant Returns to Scale
d) Increasing Returns to Factor

Jng] Linear Homogeneous Production function is based on
a) Increasing Returns to Scale

b) De ing Returns to Scale
._B]’ﬁ::flt Returns to Scale

d) None
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Multiple Choice Questions

+24) If one unit of labour and one unit of capital give 200 units of output, two

units of labour and two units of capital give 400 units of output and 5 units of
labour and five units of capital give 1000 units of output then this is a case of
a) Increasing Returns to Scale .« C Outpol
«#) Constant Returns to Scale Ix C l 200 Jax
c) Decreasing Returns to scale 2 1 “oo
d) None of the above

"35)Production Function: Q = 4.L Az, K Aem W, 12 K3
ncreasing Returns to Scale 2
. 2ty.
b) Constant Returns to Scale ‘Lz_ +3‘5 'z,—l" %7 I
c) Decreasing Returns to scale
d) None of the above

Multiple Choice Questions

26) If a firm moves from gne pojnt on a production isoquant to another, which of
the following will not happen:

a) A change in the ratio in which the inputs are combined to produce output <

b) A change in the ratio of marginal products of the inputs = Cost

c) A change in the marginal rate of technical substitution =

J(d')ft:hzmgﬂ in the level of output

C

Mp <)
b w2

" Tﬁ_uj&_dal] - RN + M(Q, Sdat Sundu-,l

Sundo] R éa'l: Rev- Tioj:
Consignment,

9/13/2023
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Multiple Choice Questions

#27) Which of the following is not characteristics of Land
a) Itis a passive factor -
b) It has multiple uses
c) It’s supply is fixed

Mt is a active factor

L28) Capitalis a
&) Stock concept
b) Flow concept
c) Bothaandb
d) None of the above

Multiple Choice Questions

29) Which of the following is not included in the stages of capital formation
a) Savings .
DbYMobilization of income
c) Mobilization of savings
d) Investments

+30) Which is not the function of an entrepreneur?
a) Initiating a business enterprise and resource co-ordination ~
b) Risk bearing or uncertainty bearing .~

c¢) Inpovation -
__dﬂq:gilization of savings




Multiple Choice Questions

31) Which of the following is the best definition of “production function” ?
# The relationship between market price and quantity supplied
P4 The relationship between the firm'’s total revenue and the cost of production.
‘_,Q/fﬁe relationship between the quantities of inputs needed to produce a given
level of output
d) None of the above

..3‘2) A firm’s production function:
a) Show how much output and the level of input required for the firm to maximize

profits X Max
b) Establishes the minimum level of output that can be produced using the

ayailable resources X
,o]’gr::ws the maximum output that can be produced with a given amount of
inputs with available technology
d) Shows labour force which is employed

Multiple Choice Questions

mat is a production function?

echnical relationship between physical inputs and physical output.
b) Relationship between fixed factors of production and variable factors of

production)X : =

c) Relationship between a factor of production and utility created by it. X
d) Relationship between quantity of output produced and time taken to produce

the output. P

3{) The short run, ayconomists use the phrase, is characterized by:
At least one fixed factor of production and firms neither leaving or entering the
industry
b) Generally a period which is shorter than one zear’(
¢) All factors of production are fixed and no variable inputs.
d) All inputs are variable and production is done in less than one yearx




Multiple Choice Questions

35) A fixed input is defined as: X

a) That input whose quantity can be quickly changed in the short run, in response

to the desire of the company to change its production
at input whose quantity cannot be quickly changed in the short run, }_rl

response to the desire of the company to change its production ~

c¢) That input whose quantities can be easily changed in response to the desire to
increase or reduce the level of production )X

d) That input whose demand can be easily changed in response to the desire to
increase or reduce the level of production. }

Multiple Choice Questions
-

L
36) The marginal product of a variable input is best described as:
a) Total product divided by the number of units of variable input - AP
he additional output resulting from one unit increase in the variable input /
c) The additional output resulting from one unit increase in both_the variable and
fixed 1ﬁuts
d) The ratio of the amount of the variable input that is being used to the amount of
the fixed input that is being used.

'3/7] If the marginal product of labour is below the average product of labour, it
must be true that:
a) The marginal product of labour is negative QP 7 M P
b) The marginal product of labour is zero
S The average product of labour is falling
d) The average product of labour is negative.




Multiple Choice Questions

/.-3/ 8) In the short run, the firm'’s product curves show that:
a) Total product begms to decrease when average product begins to decrease but
continues to mcrease ata decreasmg rate R_ MP -negative
)<p) When margmal product is equal to average product, average product is

decreasing but at its highest above
¢) When the marginal product curve cuts the average product curve from below,

theraverage product is equal to marginal product
~a) In stage two, total product increases at a diminishing rate and reaches

maximum at the end of this stage.

Multiple Choice Questions

%o

) Which of the following statements is true?
a) After the inflection point of the production function, a greater use of the
variable input induces a iﬁ&:tlon in the marginal product ~ «q, 4
b) Before reaching the 1nev1 e pomt of the decreasing marginal returns, the

quantity of output obtained can increase at an increasing rate v” qh
ﬂThe first stage corresponds to the range range in which AP is increasing as a result of

ﬂlzmg increasing quantities of variable inputs_»

Il the above




Multiple Choice Questions

Use the following information to answer question from 40-42

Hours of Labour Total Output Marginal Product

0 - -
100 100

1
®Ov 180 ® -
3

240 -

40) What is the total output when 2 hours of labour are employed?
a) 80
b) 100

180

d) 200

Multiple Choice Questions

Use the following information to answer question from 40-42

Hours of Labour Total Output Marginal Product
0 - -

1 100 100

2 -180 80

3 240 60

41) What is the marginal product of the third hour of labour?

_A60




Multiple Choice Questions

Use the following information to answer question from 40-42

Hours of Labour Total Output Marginal Product
0 -

1 100

2 80

3 v .

42) What is the average product of the first three hours of labour?

a) 60

byt " 240
¢) 100 3
d) 240

Multiple Choice Questions

43) The production process describes below exhibits:

Number of Workers Output TP
0 0
1 23
2 40
3 50

a) Constant marginal product of labour
iminishing marginal product of labour

c) Increasing returns to scale

d) Increasing marginal product of labour




Multiple Choice Questions

-441 Diminishing marginal returns for the first four units of a variable input is
exhibited by the total product sequence:

a) 50, 50, 50, 50 » _—

b) 50, 110,180, 260 K

‘Hﬁl the third of the three stages of production:
a) The marginal product curve has a positive slope X
e marginal Erodugt curve lies completely below the average product curve
c) Total product increases =

d) Marginal product is positive—

Multiple Choice Questions

46) Use the following diagram to answer the question given below it:

e ———————

] L1 LET RN
{workers por day)

~’
The margi‘ﬁal product of the 37 unit of labouris __, the MP of ___labouris
negative
a) Six; fourth
b) Six ; third

c) Sperfifth
Six; sixth




Multiple Choice Questions
Rawe Mok

47) Which capital performs its functi_on in production in a single use and is not
available for further ? Cire.

a) Social capital -

b) Tangible capital

¢) Intangible capital

_dyefrculating capital
5 N\

_A48) Paul H. Douglas and C.W. Cobb of the USA studied the production function of
the;
a) African Manufacturing industry
,_bj»ﬂéf‘lican Manufacturing industry

c¢) Indian Manufacturing industry
d) All of the above

Multiple Choice Questions

A&y and Douglas assumed that:

Returns to scale are constant
b) Returns to scale are diminishing
¢) Returns to scale are increasing
d) Returns to scale are negative

-8‘0’; According to , the true function of an entrepreneur is to introduce
innovatjons:
chumpeter
b) James bates
c) Alfred Marshall
d) Hickes and Allen




